WARNING

] n
1.Tighten screws firmly, but do not over tighten. Over tightening can damage the screws,
nstallation Instructions

2.Make sure that mounting screws are anchored into the center of the studs. Use of
“edge to edge” stud finder is highly recommended.

ITEM NO.: SH-BR-627

TV wall plate

000000000000
T
n

4
©00000000000

o o9 o D [ SK=>) P o o
= 0L |

0 0
[E a, TV bracket
/s B
Put the plastic knob(G) Use the wall plate template to determine @ @ PART DESCRIPTION QUANTITY
on the hole of hooks,and the proper location to drill holes for the wall @ ﬁ & Screw St6x48 4
tighten it with the Bolt(F). plate.Drill the determined holes on the wall, @ @ B Anchor 10x48 4
then put the 10x48 Anchor(B) in the holes. ﬁ @ Cc @8.5x17x10 Spacer 4
D Screw M6x20 4
i N e 6 E Screw M8x20 4
: Place TV bracket, flat side down, on % @ F Bolt M6x12 2
| the back of the TV. The hinged hook @ m G Plastic Knob M35x7 2
must be towards the top. Place spacers | @ H Level 1
(C) and washer (X) between the TV back 0 Q : Screw M5x40 )
and the TV bracket. Attach TV bracket to
TV using either screws (D,E,depending @ a goaxifxd.0 Washer :
on TV brand). ©08.5x18x1.0 Washer 4
WARNING: Screws D,E have different e
thread sizes. Choose proper screw. - P
Do Not force into TV. T’V-;Ze I‘ _____ E [TKE ] %
55"-100" 800x500mm  30kgs 110~450mm +15%-15° +80°~-80°

/661bs



000000000000
000000000000

0
0

470

0
0
0

000000000000

U
0
0

&8
T
)
I
L {
R'®
N

U
0
0

Position the wall plate so mounting holes line up

0
0
0

.

T

0
0
0

with wall studs.Put level (H) on the top edge of

U
0
0

the wall plate to make sure the wall plate is level.

@DQDD
OO OoOO

TI[U
0
0

@DQDD

Attach wall plate to wall using screws (A) and

washers (Z).

OO OO

Mount TV with TV hooks onto the

wall plate, then lock the TV bracket by
tightening Screw(I). You can adjust the TV
at +15°~-15°by loosing the plastic knob(G),
after you confirm the TV angle is ok, please

tighten the plastic knob(G) again.

coocooo
coococoo

Please tighten the screw(l)




